



LJ School of Applied Sciences
Provisional Mark sheet – Semester III

Programme: Master of Science	Enrollment No.: 24006400910001
Subject: CHEMISTRY	Medium of Instruction: English
Semester: III	Month & Year of Exam: Dec - 2025
Name: CHAUHAN AAYUSHI HARSHADBHAI	

Course Code	Course Title	Credit	INT (40)	EXT (60)	Total (100)	Grade
140090301	ADVANCED ORGANIC CHEMISTRY - I	4	31	43	74	A+
140090302	ADVANCED ORGANIC CHEMISTRY - II	4	33	54	87	O+
140090303	CONCEPTS OF ADVANCED ANALYTICAL TECHNIQUES	4	33	49	82	O
140090304	ADVANCED ORGANIC CHEMISTRY - I (PR)	4	30	50	80	O
140090305	ADVANCED ORGANIC CHEMISTRY - II (PR)	4	34	51	85	O+
140090306	APPLICATIONS OF ADVANCED ANALYTICAL TECHNIQUES (PR)	4	29	44	73	A+
	Total	24	190/240	291/360	481/600	

Semester Performance				
Credits Offered	Credits Earned	Result: PASS		
24	24	SPI: 8.33	Grade Points: 200	Class: First with Distinction

Minimum Qualifying criteria in each exam: Internal: 16/40 marks; External: 24/60 marks.

“The above marks are provisional and are subject to change upon approval by the Board of Examiners”.

The Provisional mark sheet will be invalid after the issue of Final mark sheet.



LJ School of Applied Sciences
Provisional Mark sheet – Semester III

Programme: Master of Science	Enrollment No.: 24006400910003
Subject: CHEMISTRY	Medium of Instruction: English
Semester: III	Month & Year of Exam: Dec - 2025
Name: JADEJA MILONIBA HIMATSINH	

Course Code	Course Title	Credit	INT (40)	EXT (60)	Total (100)	Grade
140090301	ADVANCED ORGANIC CHEMISTRY - I	4	28	38	66	A
140090302	ADVANCED ORGANIC CHEMISTRY - II	4	35	53	88	O+
140090303	CONCEPTS OF ADVANCED ANALYTICAL TECHNIQUES	4	32	40	72	A+
140090304	ADVANCED ORGANIC CHEMISTRY - I (PR)	4	28	37	65	A
140090305	ADVANCED ORGANIC CHEMISTRY - II (PR)	4	36	55	91	O++
140090306	APPLICATIONS OF ADVANCED ANALYTICAL TECHNIQUES (PR)	4	32	49	81	O
Total		24	191/240	272/360	463/600	

Semester Performance				
Credits Offered	Credits Earned	Result: PASS		
24	24	SPI: 8.08	Grade Points: 194	Class: First with Distinction

Minimum Qualifying criteria in each exam: Internal: 16/40 marks; External: 24/60 marks.

“The above marks are provisional and are subject to change upon approval by the Board of Examiners”.

The Provisional mark sheet will be invalid after the issue of Final mark sheet.



LJ School of Applied Sciences
Provisional Mark sheet – Semester III

Programme: Master of Science	Enrollment No.: 24006400910004
Subject: CHEMISTRY	Medium of Instruction: English
Semester: III	Month & Year of Exam: Dec - 2025
Name: MASI ASAD IMRANBHAI	

Course Code	Course Title	Credit	INT (40)	EXT (60)	Total (100)	Grade
140090301	ADVANCED ORGANIC CHEMISTRY - I	4	28	43	71	A+
140090302	ADVANCED ORGANIC CHEMISTRY - II	4	25	52	77	A++
140090303	CONCEPTS OF ADVANCED ANALYTICAL TECHNIQUES	4	30	49	79	A++
140090304	ADVANCED ORGANIC CHEMISTRY - I (PR)	4	28	47	75	A++
140090305	ADVANCED ORGANIC CHEMISTRY - II (PR)	4	30	48	78	A++
140090306	APPLICATIONS OF ADVANCED ANALYTICAL TECHNIQUES (PR)	4	32	48	80	O
	Total	24	173/240	287/360	460/600	

Semester Performance				
Credits Offered	Credits Earned	Result: PASS		
24	24	SPI: 8.00	Grade Points: 192	Class: First with Distinction

Minimum Qualifying criteria in each exam: Internal: 16/40 marks; External: 24/60 marks.

“The above marks are provisional and are subject to change upon approval by the Board of Examiners”.

The Provisional mark sheet will be invalid after the issue of Final mark sheet.



LJ School of Applied Sciences
Provisional Mark sheet – Semester III

Programme: Master of Science	Enrollment No.: 24006400910005
Subject: CHEMISTRY	Medium of Instruction: English
Semester: III	Month & Year of Exam: Dec - 2025
Name: PATEL HIRAL VIPULBHAI	

Course Code	Course Title	Credit	INT (40)	EXT (60)	Total (100)	Grade
140090301	ADVANCED ORGANIC CHEMISTRY - I	4	31	46	77	A++
140090302	ADVANCED ORGANIC CHEMISTRY - II	4	31	53	84	O
140090303	CONCEPTS OF ADVANCED ANALYTICAL TECHNIQUES	4	33	51	84	O
140090304	ADVANCED ORGANIC CHEMISTRY - I (PR)	4	28	49	77	A++
140090305	ADVANCED ORGANIC CHEMISTRY - II (PR)	4	36	53	89	O+
140090306	APPLICATIONS OF ADVANCED ANALYTICAL TECHNIQUES (PR)	4	32	47	79	A++
	Total	24	191/240	299/360	490/600	

Semester Performance				
Credits Offered	Credits Earned	Result: PASS		
24	24	SPI: 8.33	Grade Points: 200	Class: First with Distinction

Minimum Qualifying criteria in each exam: Internal: 16/40 marks; External: 24/60 marks.

“The above marks are provisional and are subject to change upon approval by the Board of Examiners”.

The Provisional mark sheet will be invalid after the issue of Final mark sheet.



LJ School of Applied Sciences
Provisional Mark sheet – Semester III

Programme: Master of Science	Enrollment No.: 24006400910006
Subject: CHEMISTRY	Medium of Instruction: English
Semester: III	Month & Year of Exam: Dec - 2025
Name: SHRIMALI HARSHKUMAR SUNILBHAI	

Course Code	Course Title	Credit	INT (40)	EXT (60)	Total (100)	Grade
140090301	ADVANCED ORGANIC CHEMISTRY - I	4	27	26	53	B
140090302	ADVANCED ORGANIC CHEMISTRY - II	4	28	41	69	A
140090303	CONCEPTS OF ADVANCED ANALYTICAL TECHNIQUES	4	34	36	70	A+
140090304	ADVANCED ORGANIC CHEMISTRY - I (PR)	4	26	35	61	B++
140090305	ADVANCED ORGANIC CHEMISTRY - II (PR)	4	30	53	83	O
140090306	APPLICATIONS OF ADVANCED ANALYTICAL TECHNIQUES (PR)	4	29	45	74	A+
Total		24	174/240	236/360	410/600	

Semester Performance				
Credits Offered	Credits Earned	Result: PASS		
24	24	SPI: 7.08	Grade Points: 170	Class: First

Minimum Qualifying criteria in each exam: Internal: 16/40 marks; External: 24/60 marks.

“The above marks are provisional and are subject to change upon approval by the Board of Examiners”.

The Provisional mark sheet will be invalid after the issue of Final mark sheet.



LJ School of Applied Sciences
Provisional Mark sheet – Semester III

Programme: Master of Science	Enrollment No.: 24006400910007
Subject: CHEMISTRY	Medium of Instruction: English
Semester: III	Month & Year of Exam: Dec - 2025
Name: VACHHANI DEEP GIRISHBHAI	

Course Code	Course Title	Credit	INT (40)	EXT (60)	Total (100)	Grade
140090301	ADVANCED ORGANIC CHEMISTRY - I	4	30	39	69	A
140090302	ADVANCED ORGANIC CHEMISTRY - II	4	32	50	82	O
140090303	CONCEPTS OF ADVANCED ANALYTICAL TECHNIQUES	4	32	46	78	A++
140090304	ADVANCED ORGANIC CHEMISTRY - I (PR)	4	30	45	75	A++
140090305	ADVANCED ORGANIC CHEMISTRY - II (PR)	4	34	53	87	O+
140090306	APPLICATIONS OF ADVANCED ANALYTICAL TECHNIQUES (PR)	4	28	44	72	A+
Total		24	186/240	277/360	463/600	

Semester Performance				
Credits Offered	Credits Earned	Result: PASS		
24	24	SPI: 8.00	Grade Points: 192	Class: First with Distinction

Minimum Qualifying criteria in each exam: Internal: 16/40 marks; External: 24/60 marks.

“The above marks are provisional and are subject to change upon approval by the Board of Examiners”.

The Provisional mark sheet will be invalid after the issue of Final mark sheet.



LJ School of Applied Sciences
Provisional Mark sheet – Semester III

Programme: Master of Science	Enrollment No.: 24006400910008
Subject: CHEMISTRY	Medium of Instruction: English
Semester: III	Month & Year of Exam: Dec - 2025
Name: VACHHANI HARINKUMAR AJITBHAI	

Course Code	Course Title	Credit	INT (40)	EXT (60)	Total (100)	Grade
140090301	ADVANCED ORGANIC CHEMISTRY - I	4	28	37	65	A
140090302	ADVANCED ORGANIC CHEMISTRY - II	4	33	55	88	O+
140090303	CONCEPTS OF ADVANCED ANALYTICAL TECHNIQUES	4	36	34	70	A+
140090304	ADVANCED ORGANIC CHEMISTRY - I (PR)	4	30	36	66	A
140090305	ADVANCED ORGANIC CHEMISTRY - II (PR)	4	34	50	84	O
140090306	APPLICATIONS OF ADVANCED ANALYTICAL TECHNIQUES (PR)	4	32	45	77	A++
Total		24	193/240	257/360	450/600	

Semester Performance				
Credits Offered	Credits Earned	Result: PASS		
24	24	SPI: 7.83	Grade Points: 188	Class: First with Distinction

Minimum Qualifying criteria in each exam: Internal: 16/40 marks; External: 24/60 marks.

“The above marks are provisional and are subject to change upon approval by the Board of Examiners”.

The Provisional mark sheet will be invalid after the issue of Final mark sheet.



LJ School of Applied Sciences
Provisional Mark sheet – Semester III

Programme: Master of Science	Enrollment No.: 24006400910009
Subject: CHEMISTRY	Medium of Instruction: English
Semester: III	Month & Year of Exam: Dec - 2025
Name: VAGHELA SAURABH MANOJBHAI	

Course Code	Course Title	Credit	INT (40)	EXT (60)	Total (100)	Grade
140090301	ADVANCED ORGANIC CHEMISTRY - I	4	17	29	46	C
140090302	ADVANCED ORGANIC CHEMISTRY - II	4	25	43	68	A
140090303	CONCEPTS OF ADVANCED ANALYTICAL TECHNIQUES	4	33	26	59	B+
140090304	ADVANCED ORGANIC CHEMISTRY - I (PR)	4	20	31	51	B
140090305	ADVANCED ORGANIC CHEMISTRY - II (PR)	4	26	46	72	A+
140090306	APPLICATIONS OF ADVANCED ANALYTICAL TECHNIQUES (PR)	4	21	43	64	B++
	Total	24	142/240	218/360	360/600	

Semester Performance				
Credits Offered	Credits Earned	Result: PASS		
24	24	SPI: 6.25	Grade Points: 150	Class: Higher Second

Minimum Qualifying criteria in each exam: Internal: 16/40 marks; External: 24/60 marks.

“The above marks are provisional and are subject to change upon approval by the Board of Examiners”.

The Provisional mark sheet will be invalid after the issue of Final mark sheet.



LJ School of Applied Sciences
Provisional Mark sheet – Semester III

Programme: Master of Science	Enrollment No.: 25006400910018
Subject: CHEMISTRY	Medium of Instruction: English
Semester: III	Month & Year of Exam: Dec - 2025
Name: THAKKAR KRUTI SUNILBHAI	

Course Code	Course Title	Credit	INT (40)	EXT (60)	Total (100)	Grade
140090301	ADVANCED ORGANIC CHEMISTRY - I	4	20	37	57	B+
140090302	ADVANCED ORGANIC CHEMISTRY - II	4	11	37	48	F
140090303	CONCEPTS OF ADVANCED ANALYTICAL TECHNIQUES	4	32	26	58	B+
140090304	ADVANCED ORGANIC CHEMISTRY - I (PR)	4	20	32	52	B
140090305	ADVANCED ORGANIC CHEMISTRY - II (PR)	4	26	53	79	A++
140090306	APPLICATIONS OF ADVANCED ANALYTICAL TECHNIQUES (PR)	4	16	41	57	B+
Total		24	125/240	226/360	351/600	

Semester Performance				
Credits Offered	Credits Earned	Result: FAIL		
24	24	SPI: 5.25	Grade Points: 126	Class:

Minimum Qualifying criteria in each exam: Internal: 16/40 marks; External: 24/60 marks.

“The above marks are provisional and are subject to change upon approval by the Board of Examiners”.

The Provisional mark sheet will be invalid after the issue of Final mark sheet.